603 (LB PHsRE b2 & I EERR:_ #&c
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- ~HEH:

)1 & 1 mol 1Y N204 B A 5 FHAVSE R e - 5 S e RS > A NO2 B f 0.1 M > RIJEERF NoO4 5L
HEBET?
(A0 (B)0.15 (C)0.5 (D)0.75

2. FEHURET > 1A 2.0 FHEEREEA 8.0 EHE A 16 EH.G > P EAE 8.0 BLH. » HISEMEH Ke= ?
Wz @ (€1 @2

)3. ALEY) AvgBil Bag SIEA K ABrg) » FEFEFUI T © Asg+ Bag == 2 AByg) © i 0.30 EHHYLEY) Asg ¥l 0.15 HEHHY
{EEY) Bagy R EE—RE R 60 C » B8IE A V IFIVERN - B RIEZEREHERE > 15 0.20 EEHAWESY) ABg » 5
60 C W > LA FERY T Bk e 2
(A)0.20 (B)1.0 (C)2.0 (D)4.0 (E)8.8

YA, SEHTZEE NoOsg == 2 NOzp) > TEM FAFA SRy Ryl sk A% » RIZERT EHHs
(A &R (B)PV IRIEER (OB B —F  (D)[N20aJEEK  (E)N204 EEHE &I

)5. 1 COCL RASERY— 2 FA 83 INEME 2 43 fi# By CO R Cly » ZESFHHE - COClL 2B By 4 BEH./Ft o IR COCl,
REENEH > WHEFEETR PR > JIfE COClh 2Ry 16 ZH. /T - MFEEEESEHHE 2 CO R ELE I
K> CO RELhETA ek ?
(AR =572 — (B REE (CY K% (D)H§ RylUf

)6. 1.00 FHARHFEF 0.05M Y ClI ~ 0.02 M Y Ag(NHs), " EELE T EERY NHs » F5ATGE 0200 HEE £ AgCl IR » FIl NHs
e £/ DEPCEIEET M DL 2 (HBIKERDT)
AgClisy = Ag (aq)+Cl (aq Ksp=1.00X10 10
Ag(NHs3)2 = Ag (aq)+2 NH3aq) Kc=9.00X10 °
(A)0.30 (B)0.40 (C)0.50 (D)0.60 (E)0.70

S EERE:

1. B ~ AT > WL T HIET N2Osg) <—— 2 NOyg 2 & B L2 KRR ?
(ABEE RS (B)TEEARSEE (COMEEELE (DEREEELRE (E)RWIEERE

)2, HOATHBEYVE E{HF# % 0 2 CrOs® o)+ 2 H aq) = Cra07% (ag)+ H20(e) I HY[CrOa? |2 SEERRFE RN 2
(A)JIA BaClys)  (B)JIA HNOs@ag) (C)JIA NaOH)  (D)IIA KaCraOzs)  (E)IIZKFiFE

)3. A BaCrOas) = Ba?'(aq)+ CrOa? (aq) P % » THIENE » AT o] (DR E R ?
(AIIA K2CrOais)  (B)JIIA K2Cr2O7s)  (CJIIA HClagy  (DYIIAZK  (E)JIA BaClas)

V4. TEREHYfEEES % CH3COOH(aq) = CH3COO (aq)+H'(aq) » Ke=1.8x10 °» FEHFMAERF » b =FEh AVl e

[CH3COOH] = [CHsCOO ]=[H"]=1.0x10 *M » HIREREIERIVAGL - THIRELIERE 2
(A) LIRS ERE B Qc (E =10 ° (B} PHRRIAIZEREE)  (CJARHY pH (EE M [#  (D)A IR T HI[CHsCOOH] R Z
M_ETE ()L ESRHY - ROk 2 [ %



